CERTIFICATE IN ACCOUNTING TECHNICIANS
FOUNDATION COURSE (ENTRY LEVEL)—PART I EXAMINATION

December 2010 CAT-2(ACT)
Accounting
Time Allowed: 3 Hours Full Marks: 100
The figures in the margin on the right side indicate full marks.

Section I

Answer Question No. 1 which is compulsory and any two questions from the rest of Section I.

(a) Ineach of the following, one is correct, indicate the correct answer: 1x9=9

(1) Opening Capital Rs. 30,000, Closing Capital Rs. 15,000, Loss during the year Rs. 8,000. Drawings
Rs. 7,000, Additional Capital introduced will be:

(A) Nil (B) 8,000
(C) 16,000 ' (D) 23,000

(i1) On purchase of goods of the list price of Rs. 10,000 from Ram who allowed 10% trade discount and
charged 10% Value Added Tax (VAT), Purchases Account to be debited with:

(A) Rs. 10,000 (B) Rs. 9,000
(C) Rs. 9,900 (D) None of these
(iii) Goods costing Rs. 1,000 (Sale Price Rs. 1,200) used in making furniture should be credited to:
(A) Sales Account with Rs. 1,200 (B) Sales Account with Rs. 1,000
(C) Purchases Account with Rs. 1,000 (D) Furniture A/c with Rs. 1,000

{iv) In Cash Book Debit balance of Rs. 112 was brought forward as credit balance of Rs. 121. While preparing
a Bank Reconciliation Statement taking the balance as per Cash Book as the starting point:

(A) Rs. 112 to be added (B) Rs. 233 to be added
(C) Rs. 121 to be added (D) Rs. 112 to be subtracted

(v) Sales Rs. 3,00,000, Profit = 1/3rd on cost, Cost of goods available for sale Rs. 5,00,000, Purchases
Rs. 1,00,000, Closing Inventory is:
(A) Rs. 2,00,000 (B) Rs. 3,00,000
(C) Rs. 2,75,000 (D) None of these

(v1) Date of purchase 1.7.2009, Purchase Price of an old Machine Rs. 80.000, Repairs Rs. 15,000, Installation

Charges Rs. 5,000, Residual Value Rs. 20,000, Useful life 4 years, Accounting year—financial year.
Date when Machine was put to use—1.10.2009. Depreciation for the year 2009-2010 will be:

(A) Rs. 20,000 (B) Rs. 15,000
(C) Rs. 10,000 (D) None of these
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(vii) H's Trial Balance contains the following information:

Rs.
Bad debts 3,000
Discount allowed 3,000
Provision for discount on debtors 3,200
Provision for Doubtful debts 3,500
Sundry Debtors 50,000

At the end of the year, it is desired to maintain a provision for Doubtful debts at'10% and provision for
discount on debtors at 4%. Sundry Debtors will appear in the Balance Sheet at a figure of:

(A) Rs. 43,200 (B) Rs. 39,744
(C) Rs. 44,700 (D) None of thses
(viii) 2000 kg of apples are consigned to a wholesaler, the cost being Rs. 3 per kg plus Rs. 400 of freight, it is
known that a loss of 15% is unavoidable. The effective cost per kg will be:

(A) Rs. 2.50 (B) Rs. 3.76

(C) Rs. 1.70 (D) Rs. 1.50
(ix) On 1.4.09 X drew a bill of Rs. 1,00,000 after sight for 3 months on Y who accepted the bill on 1.5.09.
On 4.6.09, the bill was discounted at 12% p.a. At maturity, the bill returned dishonoured, due to Y's

insolvency, noting charges Rs. 500 and 40 paisa in a rupee is recovered from Y's estate. The amount of
deficiency in Y's books will be:

(A) Rs. 60,000 (B) Rs. 40,000
(C) Rs. 60,300 (D) Rs. 40,200
(b) Fill in the blanks: I1x5=5
(i) Reserve for discount on creditors has a balance.

(if) WDV Rate of Depreciation =

(iii) Discount charges on discounting a bill receivable accepted by consignee are debited to
account.

(iv) Only property may be the subject matter of consignment and joint venture.

(v) The term of bill after sight commences from the date of

(c) State the reasons whether the following statements are True or False: 2x8=16
(No marks shall be awarded if reason is not given)

(i) Prudence is a concept to recognize realized losses and not profits.

(i) Straight Line Method of Depreciation is followed to have a uniform charge for depreciation and repairs
together.

(iii) Net Profit is reflected in higher cash balances.
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SecTion II

Answer Question No. 5 which is compulsory and any two questions from the rest of Section 1.

5. (a) Ineach of the following, one is correct, indicate the correct answer: 1x10=10
(i) Which of the following is False?

(A) Three basic objectives of Cost Accounting are to ascertain cost, to control cost and to provide
information for decision making.

(B) In Cost Sheet net realizable value of normal scrap of direct materials is deducted from the cost of
materials.

(C) In a Cost Sheet, Selling and Distribution Overheads are divided by the total number of units
produced to arrive at selling and distribution overheads per unit.

(D) Conversion Cost is equal to direct labour cost plus production overheads.

(1) Which of the following is False?
(A) Waste does not have any realizable value but scrap has small realization value.

(B) Spoilage cannot be rectified but defectives can be rectified by incurring additional materials labour
and overheads costs.

(C) Scrap involves only loss of materials but spoilage involves not only the loss of materials but also
of labour and overheads incurred up to stage of spoilage.

(D) In ABC analysis, ‘A’ group of items consists of those materials, the value of which is not high but
which are used in large quantities.

(iii) Which of the following is False?

(A) Perpetual Inventory System is a system of recording stores balances after every receipt and issue
to facilitate regular checking and to obviate closing down for stock-taking but Continuous Stock
Taking is regular physical verification of materials throughout the year.

(B) Bin Card shows only the quantity of materials received, issued and in hand at any point of time but
Stores Legder shows both the quantity and money value of materials received, issued and in hand
at any point of time.

(C) Closing Stock is close to current economic value under FIFO method of pricing.
(D) LIFO method of pricing results in higher profits during the period of rising prices.
(iv) Which of the following is False?

(A) Costof normal Waste, Scrap, Spoilage, Defectives, Idle Time and Fringe Benefits should be treated
as part of cost of production.

(B) Overtime Premium due to seasonal pressure of work and Preventive Labour Turnover Costs should
be treated production overheads.

(C) InProduction Department Idle Time Wages and Overtime Premium due to break down of machinery
should be charged to Costing Profit & Loss Account.

(D) Amount of bonus under Halsey Plan and Rowan Plan is same when time saved is exactly 50% of
standard time.

(E) The total earnings are same under Taylor's Differencial Piece Rate, Merrick's Differencial Piece
Rate and Gantt Task System when efficiency is exactly 100%.
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